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(2x2—x—3)(2—3ﬁ)<0
mb f(x)=(2x -x-3)(2-3")

i f(x)=0 arwgm (2x° -x-3)(2-3"%) =0
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, 2x2 —x-3=0
516

2-3%-0
— fims 2x* =x-3=0
IHMS 2x° +2x—-3x-3=0
2x(x+1)-3(x+1)=0
(x+1)(2x-3)=0

 Ixalco x=-1<0 (Bswn)
M8 {2x—3=0® x=2
2
— fim: 2-3% =0
imms 3% =2
VLAY log, 3% = log, 2
Jx =log, 2
s16] x = (log, 2)°
mnhasn f(x)
X —0 -1 0 (log, 2)° g +o0
2x* —x -3 + 0 _ _ 0
2-3% N N L0 _
<6

Mumi f (x) <0 MUIAM XE|:0,(|Og3 2)2)u(§,+ooj in: x>0

2
18 TuSmim s aNBISWiAY x [0,(Iog3 2)2)u(2,+ooj 9
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lll. cSRjEnesiEsIDasSans
y [F¥=2
=21 (2)
myaIEmMI (2): 3 =27
3x+y :33
X+y=3

S16] y=3-x (3)
L (3) AUt (1): 3 +3 = 28
IHMS 3 +3** =28
+§:28

(3) -28-3 +27=0

3)(

mit t=3 1HU(t>0)
IHMS t*-28t+27=0

1N a+b+c=1-28+27=0

_2r_

Sﬁ[{jx=l,x=E 27
a 1

— Gimst=1

t
WS X‘:sx -3

S16] x=0
— GiMct=27

t=27
IHms =3 =27
t=3"
3 =3
S16] x=3
Myfgdmi(3): y=3-x
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i x=0 816] y=3-x=3-0=3

iU x=3 §16] y=3-x=3-3=0

=3

4 =128 (1)
2) {53x—2y—3 -1 (2)

MyEMI(1): 4 =128

GG UASBMINSHGIBW (x=0,y=3) U (x=3,y=0)4

22(x+y) :27
& 2X+2y =7
MyIEMI(2): 572 =1
53x—2y—3 :50
3x-2y-3=0
3Xx—-2y=3
o e 2x+2y=7 (1)
[UAgHETMIMG{IIifdgI
3x-2y=3 (2)
2x+2y=7 (1)
3x-2y=3 (2)
5x =10
S[ef] x=%= 2

Whx=2 GSAIHN(1): 2x+2y =7
RS 2.2+2y=7
2y =3

Lyo2
2

15 [UASUBMITNSHBIFW [x: 2, y:gj y

<=0

5 =125 (1)
A1 (2)
MyIEMI(1): 5 =125

3)
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——
X+y=3
muaBmi(2): 45" =1
409’1 _ g0
(x—yf—lzo
(x-y) =1
o {x+y—3 (1)
NS IBMIMG I ;
(x-yf =1 (2
MyBMI (2): (x-y)* =1
S16] x—y=+1
- 6im: x-y=1 816] x=1+y (3)
L5 (3) AN (1) x+y =3
IAMNS 1+y+y=3
2y=2

2
=>y=—=1
y 2

MYBMI (3): x=1+y=1+1=2
— GIM: x—y=-1816] x=-1+y (4)
wh (4) B§IGH (1): x+y =3
IS -1+y+y=3
2y=4

4
=>y=—=2
y 2

MYBMI (4): x=-1+y=-1+2=1
3ig: [AgUBMINSHGIBW (x=2,y=1)y(x=1, y=2)4

v
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MyBMI (2): x+y=5
S18jy=5-x (3)
LT (3) AU (1): 2° +27 =12
RS 2842 =12
2 42°.27% =12
2—3:12

(2¢) +32=12.2"

2" +

(2¢) -12-2" +32=0
M t=2* {8 (t>0)
IS t°-12t+32=0
A =(-6) -1x32=36-32=4

JA =4 =2
[ —b'— ! __6 _2
SR w872 o oy
a 1
b+JA —(-6)+2
t, = b+\/A_= ( )+ =6+2=38
a 1
~ Gimst =4
t =4
M S =2 =4
t=2"
2X:22
S16] x=2
— Gimst, =8

L =8
iHms =2" =8
t=2"

2% =23
S16] x=3
MyEMI (3): y=5-x
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— 10 x=2 §16] y=5-x=5-2=3
— il x=3 S’I[ﬁj y=5-x=5-3=2

ig: [AguBmImSyoIiw(x=2,y=3) U (x=3,y=2)4

5) {x+3y1:2 (1)

3x+9' =18 (2)
MyEMI(1): x+3'" =2
x=2-3" (3) Ggasausmi(2)
1S (2):3x+9’ =18
3(2-3")+3" =18
6-3 +(3') =18
(3") -3 -12=0
mit t=3" 1iU(t>0)
IHMS t°~t-12=0
t? +3t—-4t-12=0
t(t+3)-4(t+3)=0
(t+3)(t-4)=0

i8] t+3=0C> t=—3<O(HStﬁﬁ)
t—-4=0 t=4
— Bim: t=4
t =
IﬁmSt y‘2>3y:4
log, 3" =log, 4
18] y =log, 4

Why = log, 4 H§aIaIEMI(3): x=2-3"
WS x=2-30%9"
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— 2 _3Iog34 . 3—1
_g g l_, 4_6-4 2
3 3 3 3
Big: [whgusSmimsysigw (XZE 'y =log, 4j 9
y+4x 5{"‘2) 1
6) <X =Y (1) NHSAN (x>0,y>0)
X =y (2)
MyEMI (2): X' =y~
x3:1
y
1
y=25 0

iHMS xx%+4X = (x‘3 )5[;3_;)

is+4x+15( d _fj=o
X x> 3
0

Gin:aaBmi ig+4x+15(i3_§j:

X X
AN %+4x+§—5x=0
X X

16
F—XZO
16—x*=0
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x' =16
6] x=416 =42 =2 (N2 x>0)

MuEmI (3):y=—
X
o 11
- iﬁle S’]@J (3):y:F:l—3:1
11
11,

—iix=2 916] (3): y=— =
X=2,y==

1
8
ﬁuigzLﬁﬁgﬁjﬁﬁ‘liﬁmﬁumﬁm(x:l,yzl)g[ ;j L

Yo—ov
3 IHSAN (x£0,y #0)

7)

1
mudmI (1) %-9v — 9%
2 X
3.3V =3
2, X
3y =3
2 X
y y
SIBj 2—-y=x (3)
whaimi(3) 5§ (2): X+X3y =2_;<_
iHMS 2_y+3y 2(2_y) 4
2-y y
2+2y _4-2Y 4 qipenn (y>0,y#2)
2-y y
y(2+2y)=(4-2y)(2-y)-4y(2-Yy)
2y* -7y +4=0
A=T"-4x2x4=17
N
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b-VA _—(-7)-V17 _7-\17

6] vy, =
J % 2a 2x2 4
_—b+\/Z_—(—7)+\/1_7_7+\/1_7
V2 2a 2x2 4
MyEMI (3): x=2-y
o 7T 717 8-(7-V17) g 7.7 1417
- iby= S16] x=2- = = =
4 4 4 4 4
717 747 8-(1+\17) g 7 T 117
- Wy = S x=2 e e T e

1+;/1_7,y:7_;/1_7]§[x:1_;/1_7,y:7+;/1_7] 4

FUREAN(x=0,y=0)

ol ﬁ 3—y
muaIEmI(1): 27 =2°.2x

2x 3y

- 5+—
2V =2 »
%:5_{_3_)/
y X

2x% =5xy + 3y?
5xy + 3y —2x* =0

X 2(1-y)

muaBmi(2): 3V =3.3 ¥
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>

I o 5 3 2—2 2 :0 1
Lﬁﬂsmﬁmimﬁimmﬁﬁjﬁﬁﬁ{ 3y 2 =0 (1)

X=2-Yy (2)
myimi(2): x=2-y Ggaiasiimi(y)
THMS (1) : 5xy +3y? —2x* =0
5y(2-y)+3y?-2(2-y)" =0
10y -5y* +3y* —2(4-4y+y*)=0
10y —2y* —-8+8y-2y* =0

L

—4y® +18y-8=0
2y -9y +4=0
A=(-9) —4-2.4=81-32=149
JA =49 =7
: b-JA —(-9)-7 9-7 2 1
mgj yl: = = = —_ = —
2a 2.2 4 4 2
_—b+\/Z_—(—9)+7_9+7_§_4
2 2a 2.2 4 4
MyEMI (2): x=2-y
= 1 o 1 _1 3
—ily== §16] x=2-=2="7=="1
y=5 S8 2 2

- ily=4 6] x=2-4=-2

=

{3“ -2/ =77 (1)
9)

5ig: Lﬁﬁgﬁiﬁmmsqmﬁm(ng,yzgj U (x=—-2,y=4)

y

F-22=7 (2
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IS {xz—\(2 7 (1)
X-Y=7 (2)
(X =Y)(X+Y)=77 (1)
{ —Y =7 (2)
7( ><+Y)=77 (1)
b
X+Y =11 (1)
{x —Y=7 (2)
=18
ﬁmx:%:g

Wi X =9 HgaIHH (1): X +Y =11

IHMS:9+Y =11
Y=11-9=2
- Gin: x =9
mme | [=3 =9
3 =3
916] x=2
~ Gimne y =2
y=2 v
RS y| =22 =2
Y =22
Y_q
2
916 y=2

3ig: [AgBMINSHEIgW (x=2,y=2) 4

) [37-2¥ =5
2X+l _3y+1 — _19 (2)
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X 2.3V — _ —
mmg | 372 =8 ()x(=3)
2.20-3.3=-19 (2)x 2

+{—9-2X +6-3 =18 (1)
(

4.2°-6-3'=-38 (2)
~5.2" =-20
sigj 2* =20,
2" =27
916] x=2

Wwhix=2 §§anhasmi (1):3.2°-2.3 =6

IHMS 3.22-2.3 =-6

12-2-3" =-6
2-3=12+6
2-3" =18
3 =9
3 =3
=>y=2

115 uiainwaias sshasSas pvd G809



Tgpapsihiinsi wigwsmifisajaniiagn

X—y=3
=>x=y+3 (3
. xy
W (3)HgauH (1): x+y=53
3
NS y+y+3=53
2y +3=5
2y =5-3
2y =2
2
:—:1
=Yy=3
Why=18gIHN (3):x=y+3=1+3=4

(S}

i [UAgBmImSyoIBw (x=4,y=1) 4

2% =5y* —4y (1)

12) 4)( + 2X+1
= 2
2" +2 Y ()

mutdmi (2); 22 -
2" +2

2% 12.0%

2*+2

2" (2" +2)
2" +2

2=y (3)

Wi (3) BSaIfh (1): 2% =5y% -4y

=Y

NS 2% =5(2°) 4.2

116 uiainwaiajs sshasSas pvd G809



Tgpapsihiinsi wigwmifisajaniiagn

(26} -5(2*) +4-2 =0
2| (2) -5(2*) +4] -0
(21} -5(2*)+4=0
(2" -1)(2*-4)=0
L Pt S
myEmI (3): y=2"
- 1lx=0 8] y=2°-1
~ 10x=2 8ig] y=22-4
Big:UAguBMIMSyGIBW (x=0,y=1)U(x=2,y

L

v

X' +y)3 =1 1 =
13) (4 ) 4 () ATHTI
X'=y __ X*—
8(x'+y)-6"" =0 (2) X4+y:68 2)
- YO 5 1 6
HEAEMI() 8 (2) IRMS ===
8.3 =6
xt-y
=2
3
2 =2
3=x"-y

=y=x'-3 (3)

Wh (3) 5[ (1): x +y=

g

inms x4+x4—3=%
3x—3—x
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2x“—3=3i3

2x* —3=27
x* =15
:>X:J_r(‘/1_5
mﬁﬁiﬁmi(B): y=x"-3
~ 1 x=-4i5 sig] y=x'-3=(-45) ~3=15-3=12
— 1x=45 8ig] y=x* - =( )—3:15—3:12

BiG: [ASBMINSHGISW (x= 415,y = 12) ( =415 \y= 12)

v

{ 23x+l 4 oY 2 —3. 23x+y ( )
14)

J3XT Xy +1= ( )

X+1>0 x>-1
2 And 2
3X“+xy+1>0 33X +xy+1>0

MYMEMI(2): 3¢ +xy+1=+/x+1
Uy («/3x2+xy+1) =(M)2

X +xy+1=x+1

mganﬁn{

3X* +xy—x=0
X(3x+y-1)=0
. =0
giej|
3x+y-1=0
MYIEMI(1): 21 4272 =3.2%
— iix=0 IS 220" +2? =3.2%0v
24272 =3.2
8+2) =12.2
8=11.2"
8

2 ==
11
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8

log, 2’ =log, | —

d, 9, (11]

18]y = log (ﬁj

y 2 11
— ifi3x+y-1=0 S1@j y=1-3x (3)
iﬁms 23x+1 +21—3x—2 =3.23x+1—3x

2-2% 4271 =3.2
4.2 427 =12

Mh t=2" §16] %:2“ fn(t>0)

AT MINNIUH G aITIAIT 4t+%=12

47 -12t+1=0
A'=(-6) —4x1=36-4=32
JA' =32 =42
. b-JA —(6)-42 6-42 3-22
mgj tl= = = =
a 4 4 2
L _bHVAT —(-6)+42 6442 34242
? a 4 4 2
= t"5~'|,m:t1=3‘NE
2
3-242
T e PP AL
3x 2
t=2
log, 2** = log, (3_2\5}
2
3x = log, (3_2\/5]
2
3x =log,
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. 1
mﬁjx=§(|og2(3—2ﬁ)—1)
- t"ﬁm:t2=3+2‘/E
2
3+242
e 2T 5 | o ov o322
3x 2
t=2
log, 2* = log, (3+2\/§J
2
3x=|ogz(3+§\/§J

3x:logz(3+\/§)—logzz
3x:logz(3+x/§)—1
sﬁajx=%(|og2(3+2ﬁ)—1)
whniy x TgURRAEMI(3): y=1-3x
- iﬁx:%(logz(3—2\/§)—l) iﬁmSy=1—3x%(logz(3—2\/§)—1)
y =1-(log, (3-2v2)-1)
:1—Iogz(3—«/§)+1
:2—Iogz(3—\/§)
- iﬁx=%(log2(3+2«/§)—l) iﬁmSy:1—3x%(log2<3+2\/§)—1)
y=1—(|og2(3+2ﬁ)—1)
:1—Iogz(3+«/§)+l
:2—I0g2(3+«/§)

3ig: wAgdmInSyoigw (x =0,y =log, 1%]
Lj(x :%(Iogz(3—2«/§)—1), y= 2—Iog2(3—2«/§)J
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Q(x:i(logz(3+2«/§)—1),y:2—logz(3+2x/§)j |
x—-3|y|+2=0 (1)
15)
V27 —\3"9* =0 (2)
MyBMI(2): V27" —v3"9* =0
27* =39
33x=3y2+2x
3x = y* +2x
1G] x = y? (3)
Wi (3) SSaIHH (1): x-3y|+2=0
IHMS y*-3|y[+2=0 (4)
- 1hy=>o0 8igj|y|=
tm:mﬁms(4)191my2—3y+2=o
A=(-3) —4x1x2=9-8=1

Ja=\1=1
S16] y, = b-va _(_3)_1=3_1=3=1
2a 2x1 2 2
y, = —b++/A —(—3)+1:3+1:i:2
? 2a 2x1 2 2

MyBmI(3): x =y
iWy=186] x=y?=1>=1
ify=2 6] x=y2 =22 =4
~ 1ly<o 8igj|y|=-
iQseBmi(4)191M y2+3y+2=0
A=3F —4x1x2=9-8=1

JA=1=1
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b-JA -3-1 -3-1 -4

316 = = = -
J Y, 2a 2x1 2 2
_—b+JZ_—3+1_—_2__1
2 2a 2x1 2

MyMEMI(3): x = y?

iWy=-2 816] x=y* =(-2)" =4
iWy=—1816] x=y>=(-1)" =1
ig: [UASBMIMSHTIBW (x=1y=1) U (x=2,y=4)

(
U (x=-2y=4)U (x=-1y=1)1

—

32x+2 + 22y+2 :17 (1)
16) .
2:3143.22 =8 (2)

2 n2x 2 2y:
sy J3 220 =17 (1)
v 16-3+3.2" =8 (2)
N 2 2
B 9-(3") +4-(2) =17 (1)
6-3*+3.2' =8 (2)

Ml X =3,Y=2 1#(X>0,Y>0)
9X?+4Y? =17 (1)

\ms
il {6X+3Y=8 (2)

MYaIEMI(2): 6X +3Y =8

6X =8-3Y
figf x =2 (3

W1 (3) BGAIHN (1) 9X2 +4Y% =17

2
RS 9(%) +4Y? =17
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9 64 —48Y +9Y?
36

64 — 48Y +9Y?

j+4¥2=17

+4Y? =17
64 —48Y +9Y% +16Y° =68
25Y2 —48Y +64—68=0
25y* —48y—-4=0
A'=(~24)" —25-(~4)=576+100 = 676

JA =676 = /267 =26

. —(-24)-26 24— -
mﬁlez( )=2%6 _2 26:—3<o(ﬁsmﬁ)
25 25 25
—(-24)+26 24+26 50
YZZ = :—:2
25 25 25
Gimzy =2 §igj (3):x = o> _8-3:2_8-6_2_1
6 6 6 6 3
- ifivy=2
Yy=2 X
HmsS =2'=2
Y =2
Si6jy=1
~ i x =1
3
x-L ,
HmsS 3|=>3===3
X = 3"
916jx=-1

42)(2—2 _22><2+y +4y :1 (1)
17) ,
22y+2 _3. 22X +y =16 (2)
4247 2% 4 20 =1 (1)

U 2
22.2% 3.7 . =16 (2)
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l 2\2 2 2
=(22°) -2 2 4 (22) =1 (1
. (@)-1 o
4-(20) 3.2 .2/ =16 (2)
mit X =22, v =2' {i (X >0,Y >0)
1

—XZ-XY+Y?=1 (1
Lﬁﬂsmﬁmimﬁﬁiﬁﬁﬁ 16 ’ @)

4Y? -3XY =16  (2)
MyEMI(2): 4% -3XY =16

3XY =4Y? -16

o 4Y? ~16
S1B] X = 3
=28

1y

Wi (3) XZ = XY +Y2 =1

l
2 2
120N L4 aal 16 Y+Y?2=1
16 3Y

4 2 _

1 ( 4Y A

16
2 2 2 2
4y -a) _(av7-16) .,
16\ 3Y 3

2 4\
(Y2 -4) _(4\(—16)”2:1

R

mga (1):

(3v) 3
Y2V S2.Y2.44 4% gy2
(v*) : A-16 .,
9y 3
Y4 -8Y?+16-3Y7(4Y* -16)+9Y*-Y* gy2
9y ? - 9y?

—8Y? +16-12Y" +48Y% +9Y* =9Y°
—-2Y* +31Y?+16=0
2Y*4 -31Y?-16=0
it t=y2 {& (t>0)
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AOMINNIISIM 262 —31t—16 =0
A=31%—4.2.(~16)=961+128 =1089

JA =+/1089 = /312 =31

b ~(-31)-33 31-33 - :
b—va _—(-31)-33 _31 33:_2:_%<o (Hatwn)

S1Bj t =
J & 2a 2%2 4 4
L _cbedA —(3)+33 31433 64
2 2a 2% 2 4 4
Gimst =16
t:
IHM S |=Y?=16
t=Y
Y2-16=0
Y?2-4*=0
(Y -4)(Y +4)=0
. [Y-4=0 |Y=4
S16] N -
Y+4=0 |Y=-4<0 @mmﬂ

) 0 [=] 2_
mﬁmgv=4ﬁgmgﬁmﬁmi@yszle6

—_— . 2_
IﬁmSX=4Y 16:44 16:4
3Y 3-4

~ ifivy=4

Y =4
RS =2'=4
Y =2’

2y =22
916j y=2
~ iU X =4
I L Y
X =22X
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y _
18) {X - NHSAN (x>0,y>0)
y=mx (2) =
MyBMI (1): x! = y*
x) = y”
ylnx=xlIny

mxInx =xIn(mx)  ({fNsy=mx)
mlnx = In(mx)

Inx™ = In(mx)

X" = mx
Xm—l =m
o a1
S1B] x=mm*

m-1+1

1 m
m-1 m-1

i o (=
WHHY x=m™! G§HHIIEMI(2): y=mx
1
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' |8 x+5 x+17
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60. 3 =27 \5
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60 42 g xin®2 g 87. 5° -3 = 2(5*2*l —3*“2)
X X X+3 Ax-2 pEx+l _
63, ( 5+@) +( 5_@) _10 88. 23.32.5¢1 4000
89. 3433 +3* =750
64 25X +1OX = 4X 90 52X+l _3_ 52x—1 — 550
65. 3" +4" =5 = 1 1
66 27X+1 + 269x _3)( — O 91 & (05) . 4X = 86X
X X X+1 X+2 __ nX X+3 _ ax+l
67. (\/;) =X\ﬁ 92. 5°+5"™+5 =3 +3 3
0.25)"
x2-12 3 93. 0.125-4%8 = (—j
68. (0.6)" (%) - (%) 2
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1

7>(+2 _-

T +14. 7 = 48
21,55 = 2000

3.22-7.24=20

2x2—x+8 _ 41—3x

2X + 2X—l + 2)(—2 — 3)( _3)(—1 +3X—2
2_gy 3

2" 2 21642

. t.52 _ 1)
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()

Na-x?
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34X+8 _ 4 . 32X+5 + 27 — 0
22x+6 + 2x+7 _17 — 0

(o) 4o B 4
2.16" ~15-4*—8=0
(3+J§)X +16(3—J§)X = o3
(7+448) -3(2-+3) +2=0

3-16"-2-8" =5-36"

1 1
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2 3x+3
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